Practice for Units 6 & 7 Name He:j
Station 1 - Even and Odd Functions

Read and answer the questions on the back.

A Functlon can be classified as Even, Odd or Neither. This classification can be
determined graphically or algebraically.

Graphical Interpretation -

Even Functions: Odd Functions:

Have a graph that is Have a graph that is
symmetric with respect symmetric with respect
to the Y-Axis. to the Origin.

Origin = If you spin the picture upside down
abnut the Origin, the graph looks the samet

YW-fAxis = acts like a mirror
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Algebraic Test—  Substitute (~x) in for x everywhere in the function and analyze the '
results of f(—x), by comparing it to the original function f(x.

Even Function: ¥ = f(x) is Even when, for each x in the domain of
f(x), fl—x)=[f(x)

Odd Function: ¥ = f(x) is Odd when, for each x in the domain of
fx), fl=x} = =f(x)

Examples:

a fid=xt+4 b, fix)=x¥*—-2x e fi)=x-3x+4
fl-2) = (~x)* + 4 fl=x) = (-x)* - 2(~x) flx) = (~2)* - 3(~x) + 4
fl=x)=x*+4 fi-x)= -2 +2x f(=x)=2>+3x+4

f(=x)=f(x) =)= =(F-2x)= -f(x) [(-x}#[(x) ; =f(x)
: f pot

Even Function! Odd Function! ' Meither!




A. Graphically determine whether the following functions are Even, Odd, or Neither

| af NEEEEEE g
S e [ e e
; % r j AT
[ / DO P W S
S, TN
1. 2. B s ot
sdd nether ever
69mmd1)|c 5am m@\*\ C
alout +he alooudt e
origin 3«@)63

B. Algebraically determine whether the following functions are Even, Odd, or Neither

1 fx)= x> —x2+4x+2 N
Q%)= (—x)a-(—x) yUl-x)+2 eithe
LX) = - - _Ux+

2. flx) = —x*+10
_ 2 ever |
p(-x) = - (-x)" 410 20) ()
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3. flx) = x* + 4x

~ a odd
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4. f(x)= —x*+5x -2 X
£lr) = - (P HS(R) -2 T
Y S

C. If f(x) is an odd, one-to-one function with f(5) = —2 then which point must lie on the graph

of its inverse f~1(x)? (Y (S, -2 nwerz2e = SWap
(-5 2) £ odd Y £ y

("‘2, 6}

(2:"5.)



The discriminant is a small partof the |-
"~ quadratic formula. Y

- b*—4ac

Station 2 - Discriminant

Find the discriminant to determine the number of x-intercepts and the nature of the roots.
1. 2x2—3x+2=0
o-Hac
2 _uw((2Y2) = - > M W‘W,Wq_uai
(-3 L\( X ) L 9 Nne x-1nt
2. 3x+7=5x*—4
SX_3% - [=O
(-D>-y(s) (1) =229 = read, wreatonal, wneguad
2 x-wnt
3. 9x?2+24x+16=0
(-au) -u@)(16) =0 D real vakioned, equed (
| %-1nt
4, x*-7x+6=0
2
(-7) ~4(1 \)(é) = 25 D veal, yatlonaf, wireq wad
2 x-wt
Challenge:
5.  Find all the values of c such that 2x? — 6x + ¢ = 0 has unequal, imaginary roots.
2
b -Yac L O
(<) —4(2)(e) «=
2 - Bc £ <
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Station 3 - Transformations

; 1 Given the graph of f(x), sketch and the label the
(i ' graph of the following functions using a different
color for each.

a) g(x) = 2f (x — 5)
b) h(x) = —f(2x) + 3
&) k(x) =2fGx) -2

If f(x)=x+10 and g(x)=f(2x) then g(-3)=

/ A f (17 '(3‘) -30

AN )2 @
AP q(-) = g(2:-2)
: £(-6)
E(-e) = & wiE
- = 4

3. Suppose the point (6,—1) is a point of the graph of f(x). For each of the following, state the
coordinate of the point after the transformation.

a) y=f(3x)

(2.-)
b) y=f(x+2) lﬁb;‘_l
&) y=f)+5 (o,4)
d) y=1f() -3 (6, -3:5)
e) y=—4f(x—1)+2 (7'Q1

0 y=r(-22)-7 122 )
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1. Solve the equation. Leave answers in simplest a + bi form.

8x2+4x+5=0

K= U EJ (wyae)s)

2(€)
= _utJoon _ -4 Ti2a «Lir?é
\ (o Lo “
2. Solve the equation. Check for extraneous solutions.
O‘/\@@K \/.7(,'+2—Z = 2x S o = -'Hi )(H z"(‘(éh("}
Join -3z20) [tz =(27+3) 2(4)
-2 -2 h
2 xr2=Uxrri2x+st o407
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3. Solve the equation. 4 Y _ j\/
! /)\ L{
3(x + 3)% =81 T -
R
(x+3 )’ 2T
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Station 5 - Radicals and Powers of i
1) What is the product of V4a2b* and Y16a3b2 >

Za )4ab?*Va?

c. 8ab%3Va? o \02 \3‘ 02
d. 8a?b3Va

2) Given i is the imaginary unit, (2 — :yl')2 in simplest form is
a. yz - 4yi + 4‘ Lé i + >
(5D —y* —4yi+4 -y A7y
2
c. y-+4 y LY
d y*+4 -9 -Hoa ¥

o™
A

3) The expression 3V—18 + 5V —12 is equivalent to
9VZi + 10V3i 5 (307 4) + 5 (3=

b. 6V2i + 7V3i O(LGJ p(OJ—’;J
c. 195i
d —90V6

4) What is the sum of 5 — 3i and the conjugate of 3 + 2i ?

:§+§ [5oau) + (3R
. 2—051 ~

8 + 5i ¥ - Su

5) Simplify. Rationalize the denominator.

g —2J3 —4J3 =3
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